N & o & AF &2 H Ml A
SH: A RRIAY A
Ha: #HXNSYAY (A 22IAY L) (OIEHIIE
chel: ol (e
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 J1E o B2
AIERIRIAN A 1,258,231 1,297,898 39,667
SHSH A (ALB2IAIA) (JIIEHIIE) 53,323 59,080 A5, 757
oIz 2| 2,850 3,000 A150
oIzt 2yl 2,850 3,000 A150
203 HRFAY| 2,850 3,000 A150
04 BASYAREAY| 2,850 3,000 A150
ORNSYARSAY HAEDE  -150,0008! A150 0 A150
EE] 50,473 56,080 A5,607
p[EE] 50,473 56,080 A5,607
201 Yereg| 24,921 27,689 A2,768
01 AtR2elt] 24,381 27,089 A2,708
OARR2IH HAELE ~2,708,0008! ~2,708 0 A2,708
02 ZZ2Y| 540 600 A60
ozl HaETE ~60,00024 AB0 0 AB0
202 (48| 24,652 27,391 A2,739
01 =2Ujoi | 24,652 27,391 A2,739
O30l HaELE ~2,739,000%! ~2,739 0 A2,739
405 X+arE S| 900 1,000 A100
01 RMUSEHSY| 900 1,000 A100
ORMUSEHSH GlAE2E  -100,0008 A100 0 A100
T[NES 2RA(ZELRNLNL/XALTA) 543,660 561,869 A 18,209
NS |XB 543,660 561,869 A 18,209
NS M2z8 Sz 202,770 204,952 A2, 182
201 Yer2g| 10,419 11,576 A1, 157
01 AtR2elt] 3,456 3,840 384
OARR2IH HAELE ~384,0002! ~384 0 384
02 222 6,963 7,736 ATT3
O3T2YHl Ha=LE ~773,0002 ATT3 0 ATT3
203 YREAY| 2,375 2,500 A125
03 AlZZ=TQ =Y 2,375 2,500 A125
ONBEMALEFY| HARLE  -125,0008 A125 0 A125
206 T2 7,100 18,000 A900
NIEE 17,100 18,000 900
OMEH GlaEAE ~900,0002 A900 0 A900
oY RUBHSESH |XB 180,069 180,327 ~258
101 Q1248 16,080 11,880 4,200
04 JAMZRIISES 16,080 11,880 4,200




SN A BRIAY A
HH: DTALES B (BELXANL/NSLTAI)

el BSAIEE 7R (ctel: &
SN CR(EH) - NRAY - BES 0l & 24 01 o BlnE2
028 . RFEHIL2sE 22l URY 16,080 11,880 4,200
—EER(EEMA) 16,080,000& 16,080 11,880 4,200
201 B3| 32,025 35,583 A 3,558
01 AtR 22/t 9,720 10,800 A 1,080
OArS 2elHl HaEHE -1,080,000& A 1,080 0 A 1,080
02 =23l 22,305 24,783 A2,478
O33=23tl da2L= -2,478,000& A2,478 0 A2,478
202 O4Hl 900 1,000 A100
01 =W 900 1,000 A 100
O=UoHl a2 -100,000& A 100 0 A 100
206 M=l 5,700 6,000 A 300
01 M= bl 5,700 6,000 A 300
OMEH sz -300,000& A 300 0 A 300
405 AHeHESHI 4,500 5,000 A500
01 XL SSFSHI 4,500 5,000 A 500
O ESSHEH MBS E -500,000& A500 0 A500
olgdz Fadsea SRl 3,960 4,400 A 440
201 LetEdH| 3,960 4,400 A 440
01 AtR22/Hl 3,240 3,600 A 360
OAtR2t2/dl a2 2 & -360,000& A 360 0 A 360
02 25234l 720 800 A80
O=23=2ZHl dazZ=E -80,000& A80 0 A 80
Tl E3te2 KR 88,171 97,190 A9,019
201 Let2d| 80,091 88,990 A8,899
01 AtE22(H] 13,590 15,100 21,510
OASR2telHl HaEZ2 -1,510,000& 21,510 0 21,510
02 =234l 66,501 73,890 7,389
OZ32ZHl oazgz -7,389,000& AT,389 0 AT,389
202 O4Hl 1,080 1,200 A 120
01 =W 1,080 1,200 A 120
O=ZUH0HHl HaEZ2 -120,000& A120 0 A 120
“ELelAEE X2 68,690 75,000 26,310
201 Let2IH| 54,990 61,100 A6,110
01 AtE22/H] 5,940 6,600 A 660
OASR2teHl HaEZ2 -660, 000& A 660 0 A 660
02 2323l 49,050 54,500 A5,450
OZ32ZHl ooz zE -5,450,000& 25,450 0 25,450
206 M=l 3,800 4,000 A 200




A AIE2CIAE A

Zy: TDNES B (RELNSINL/NLLSAI)
Sel: ZTAEES RA2L chol H R
SNBSS - HRAY - BHES Aboy 01 o HIRZE2
01 T2l 3,800 4,000 A200
OBl HlaE2LE ~200,0002! A200 0 A200
ROHSHE SY(SJILBR/HS) 471,500 484,549 ~13,049
MgZzly 29 175,661 177,221 A1,560
AZ HEANE 29 175,661 177,221 A1,560
201 2sr2 | 14,040 15,600 A1,560
01 At 2t 14,040 15,600 A1,560
OArR2IHl arE2E ~1,560,0002! A1,560 0 A1,560
20 MSHE LS SXZ 295,839 307,328 A11,489
20MSME ANES sXBL 295,839 307,328 A11,489
201 L2 249,447 260,496 A 11,049
01 At 22l 23,847 26,496 A2,649
OArR2IH arE2E ~2,649,000% A2,649 0 £2,649
2 22| 225,600 234,000 £8,400
OZZ22 % Al 149,000 37,000 2,000
—SEAMSSNH L OIHSHE M|, 46
% 23 12,000, 0002 * 128 144,000 132,000 2,000
CNEETIESE 19,000 16,000 3,000
—agF 2 0 L BY Lol
2,500, 0002 +23] 5,000 2,000 3,000
OZZ2Hl HaELE ~23,400, 000! 23,400 0 £23,400
202 01t 2,160 2,400 A240
01 2UhoiHl 2,160 2,400 A240
OZUHoitl BaE2= ~240,0009! A240 0 £240
405 RtarE S| 3,800 4,000 A200
01 XML SEFHSH) 3,800 4,000 A200
ORMUSEHSH WaAZAS  -200,0008 £200 0 A200
ZEANSIZN S (ABI=T/AS ST L) 189,748 192,400 A2,652
=xZ20Y 29 143,902 142,780 1,122
%Az =NZ20Y 29 143,902 142,780 1,122
201 L2 121,842 119,380 2,462
01 AL elt] 119, 142 116,380 2,762
osg+g 110,400 96,000 14,400
—Z2IW2Y AA 22 110,400,0002 110,400 96,000 14,400
OAFRBrRIY BB E ~11,638,000%! A11,638 0 ~11,638
03 A2 Y] 2,700 3,000 A300
OBMSHH arE2E ~300, 000! A300 0 A300
202 01t 2,160 2,400 A 240
01 2Uhoit] 2,160 2,400 A240




SN
X XH
(==

el

AE 22| ALY A

C SEMEIEXI2
SNEZz0Y 2

2 (MSX /AL ST LE)
=

SA B HRA(SH) - MRAY - B 0] & 08 o1& o HIREY
O=ZUHOHHl HaEZ2 —-240,000& A 240 0 A 240

206 M=l 14,250 15,000 AT50
01 M=H| 14,250 15,000 AT50
OM=Hl olaE2d= -750,000& AT50 0 AT50

405 KHAHFESHI 5,650 6,000 A 350
01 HARESFSH 4,750 5,000 A250
OXMMASSFHSH HAEZE -250,000& A 250 0 A250

02 =AY 900 1,000 A 100
OEM-Hl HaEZZ2 -100,000& A 100 0 A 100
SEA=SEXZ AIdES 22 45,846 49,620 A3, 774
SEAMIEX2 A2 2 45,846 49,620 A3, 774
201 LetEHH| 33,966 37,740 A3, 774
01 AtSR22/Hl 12,996 14,440 AT,444
OAtR2t2/dl olat2Z &2 -1,444,000& A1,444 0 A1,444

02 2234l 20,970 23,300 22,330
O=3=2ZHl oazZ=E -2,330,000& 22,330 0 22,330




